October 29, 2019

1. The value of the x-intercept for the graph 4x + 3y =12 15
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2. What is one point that lies in the solution set of the system of inequalities graphed below?
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3. The cost of a taxi ride. C (in dollars), after a certain distance m (measured in miles) is modeled by the
function C(m) = 1.25m + 5. In terms of cost and distance, which statement describes the meaning of the slope?

1. The cost igfreases by $1.25 as the distance increases by 10 miles.
1e cost ficreases by $12.50 as the distance increases by 10 miles.

3. The cosfincreases by $1.25 as the distance decreases by 10 miles.

4. The cogt decreases by $12.50 as the distance increases by 10 miles.
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4. The students at Myers Park HS were grven mformation about two linear functions. Function fhas an x-msercept
of 8 and a y-mercept of —6. Functicn g 15 shown m the graph below.

4

[

" 4\\:3 AY=b
=TT T 1 1 AX:.B ’-8
2
h

L =

-4

“Mu&dopeofdzﬁmﬁm“mmean_uslq)e?
(o]

3

-
wWiv Wi

wm=




October 29, 2019

5. The graph of the equation y =-2 1s a line A
@paxa]leltoﬂ:ex-a:ds
2. parallel to the y-axis
3. passing through the ongin o —_
4. passing through the point (-2.0)
— \1:'2,

6. Which mequality 15 shown m the graph below”?
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7. What 1s an equation of the line that passes through the
pounts (2, 1) and (6, -5)?
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8. What is the sohution of the inequality —6x — 17 > 8x
+25?
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9. Whatisthe solution of 32m — 1) <4m + 7?
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10. Whch graph represents the mequality x < 27




